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Q. Paper : II (Objective Type) PAPER CODE = 7833 GAS ) N gy
Time Allowed : 15 Minutes (o1l R L)

Maximum Marks : 10 LA~ ~2Y 10 : AF
Z:*U?uu:_ufuﬁbé’fé.)&_Vﬁdlf/;{_géﬂ,}lﬁ -ug‘éfé_)[) 4 C'BA .:«Uﬁ;e.lfLJ'f/; FO
-(ﬁ/}ﬁwylﬁoxﬁwan‘bﬁ_& Jo¥ k L/Zy(u;/’bu&.}c...g H’Z.'.':/c,dﬂ/jlfo/’bﬁw&lbf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which of the following is the condition to check a is a factor of b : : u’f be }9 Kb« aJz c‘:_gjl.?::w"iﬂ uu;é«_, S 1-1
b/a==0 (D) a/lb==0 (C) b%a==0 (B) a%b==0 (A)
If there are three return statements in the ; Jﬂ I ;:_uig!?uﬂm U/‘;,Ufu:djgu‘lﬁ’;ﬁ 5
function body ----- of them will be executed : i
Firstand last (§/ TJJ'&; (D) Three & (C) Two 2 (B) One L1 (A)
Which of the following is a valid line of code : ! & pama IS e 4
char="A"; (D) chargrade="A"; (C) float=34,; (B) <\ int=10,; (A)
An array is a --- structure : =g Z ‘C.ﬁ'.}/ SN (VR "
Conditional 3" (D) ‘Data 3 (C) Locgpgéﬁ{O(B) Control Js£ (A)
(Z10m) @
2 (2)
In C language character constant is wr:tt@(—:‘né):@éi> : g_tw@wéﬂ.—w A Kf-..r/d:é’@tf
# (D) (©) ) © A E
What is the output of the following%é&é: Do AT J H/J Wls
int m = 80 ; S . 6
if (m>70 & m < 80)
printf ( "Pass") ;
else
printf ("Fait") :
1 (D) 0 (C) Fail (B) Pass (A)
A software that facilitates programmers in writing g bl I‘.},Ju,u:.""f'f (154/};,/354/6/:? s
computer programmes is known as : i i i 1%
IDE (D) Editor £#4/ (C) Debugger /;'5 (B)  Compiler AU (A)
In this function intis a : ( : c.intd.'.'uigu’l
int msg () ‘ 8
printf ("keep it up") ;
Return type <“t¢)zs (D) Body (3 (C)  Parameter Xz (B) Argument w9 T (A)
---- part of for loop is executed first : : 905‘&”4_?/,47.-- §+for
Body S35t (D)  Increment/ decrement uf/JL&l (C) Condition b~ (B) Initialization /=% %41 (A) °
What is the result of 13+21% (41-20) : ; g.glﬁgbf13+21% (41-20) ﬁﬁgﬂ
12 (D) 13 (C) 10 (B) 34 (A) 10
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Time Allowed : 1.45 hours ' /71 40 : A
MR b < ( PART-I Jil = )gaj w2 & L ety (4) e df 2
2, Write stlort answers to any FOUR (4) questions : . = .- Y Jlde.ntifier (i
8 2 (i) Define identifier. gf v KIS d’) .:.-43"3' )‘.;.,J/:i&:;,,gﬁ }4..5 (i)
s . ture for the =& S R
(ii) ‘?,','i'ttaiﬁgi?‘gg 3"\?;3:aztlgugtuthe time of declaration. -2.{ ol { y ﬁ‘; 7:% ((iI\III;
(i) Describe text editor. : e bx g Ayl 2
(iv) What is assignment operator? ARy NgD /] / (\{)
(v) Define arithmetic operators. , ot J’ Iz ﬁ /?4(’ J..5 Lo (Vi)

. the following expression : . e ) -
(vi) Evaluate R(4;32:‘4est?:;n950- ( :é— :Ju}. /‘f L @I:;/f’((;) J"' C—(—)‘jf 3
i ers to any FOU . TN I

8 3. Write short answ ) o -
i is the output of following code : nkas 10
(i) Whatis ;fn(aﬂo T

printf ("yes") ;

else

printf ("No") ; @ﬂy s &3 i ()

(i) Identify the errors in the following code : f(1<2<3)S

printf ("1") %
@
D>

(23 . : .
Satomonts © 5o g 1 (M (ot e 2 iy g

nguage. -Z-b 2l § kit ifur &% (v
fe sl .'U/ & ok e Ul (V)

(’é’_l‘jﬂ)

3. (iii) What is common mistake in compou
(iv) Draw a flow chart of if statement |

(Vi) Write syntax of array dec n. ~& WK S L o (vi)
4. Write short answers to any FOUR (4) questions : : é@;w“‘f&@uwm J!,c_;jf -4
(i) Why return keyword is used in function? ?gﬂy‘:ﬂ,}b‘;"'u.’..f}‘/ﬁ_( Ku/‘:/u.’ o ()

(i) What is meant by return type of a function?

?Q:V”ch_gt‘u/%/d/ .
(iii) Briefly explain function call,

G
B el A e fE

(iv) Write down structure of function definition. - ¢/ i ¥ uzﬁ (iv)
(V) Find error(s) in the following code - P & (5 ti?d/;,“/iu: s s (v)
for(inti=0,i<20;i++) -

) printf ("%d \ n", " .
(Vi) Write out put of the following code - - o B 3 ’_é_,//‘g{,..:juf 5;0’35;: (vi)
in m = Q, ; ! -

for(P=1;P<=20: P=P+2)
sum =sum+ 2 ;
printf ("sum = %d", sum);

( PART'II (9 ) '
Note : Attempt any Two questions. -é’.:,u.eé.-.-,uwc_df tad

5. Explain int and float data type in C-language. -2;’: ooy =t &3 float u»f int e C-language .5

6. Explain Printf ( ) and scanf () functions with the -"é ..:»LB:J e scanf () usf printf ( )c:..ud/dﬁk,.wl? -6
help of suitable example.

/. Write a program that print the table of 5 using -é.bzé.nz_/ﬂb&'lf..,ﬂ “for" rf/’j{ffc’:Su.‘.'é)@C -
"for" loop in C-language. ) _

216-024-I1-(Essay Type)-46000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

A float uses ----- bytes of memory : : :‘_t‘fdbl:’fgf'fg--..-d/ Se :J".g
7 (D) 4 (C) S (B) 3 (A)
----is a software thatis cgllgmé.[u?&glz:/u'igﬁi 411}’5Jr1/64g‘¢m;:,_~)wf_{4 .....
responsible for the conversion of programme files to machine understandable and executable code :
IDE (D) Debugger/.a';‘ ©) Editor =4 (B) Compiler A (A)

What will be the answer of folldwing statement : : ?ﬂ.(b?gﬁ_*é}-‘-’ Jh 5IOP)

float a = 10.0/4 @
10 (D) 1(C) AQ(B) 2 (A)

The operator % is used to calculate ---- : 0@5‘4&?‘_}@!%{&_/;{ ,a.:’:.»._%/‘.{f
Square &/ (D)  Factorial 2 (C) Re@%@ i) dexs (B) Percentage Ez A

G@v(\/z )

What will be the output of the following code ; <>\5
if(1>0)
printf (" 1 ");
else
printf ("0");
"0" (D) "1" (C) 1 (B) 0 (A)

Conditional logic helps in =---- : : LC‘ Juu‘ Juﬂlf
P P Y ; - ST : -
Reversing ..@4/ (D)  Traversing ..fu.f/ (C) lterations wﬂxﬁ (B) Decisions (s (A)

1-1

. bl

: g&,&ffg;ﬂ/@}@n

--=-- part of For Loop is executed first : e M e K+ For
% i = T Wt

Increment/ decrement d/ / 31 (D)  Body § 5L (C)  Condition L} (B) Initialization /2 (%1 (A)

: D blemul Tyl P2t e
F“"°“°”3)56 (D) Expressions /?'-/../{l (C) Conditions 417 (B)

The advantages of using functions are ----- :

Compiling .ﬁ’&f (D)  Printing VC{ (C)

----- make it easier to read and write values in array :

Loops =+ (A)

UL e LS {5
Reusability Jt&upg (B)  Executing Jx,..{/? I (A)

. . % . ‘:..— oy ‘ Y
n I [ & l g”a U’eﬂuﬂzﬂl (C) Retum Value }.:"L'JﬁJ (B) Fala”letels J./tf’ﬁ‘ (A)

217-024-11-(Objective Type)-10000 (7832)
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( PART-1 Jil ) '
8 2. Write short answers to any FOUR (4) questions : : J Y 4 ﬁ.’ L =y (4) /b Jf -2
- () What is the purpose of using a compiler? -i, Uk 42§ JLWI Fal }'Lf' (1)
(i) What is a case-sensitive language? "L sy LV = é,@ r“"' u’f (ii)

(iii) Explain briefly types of comments in C-language. -’cf:( Uk /"4 (‘L—’l J UM (% C-language (i)
(iv) What do you know about operator precedence? e - Jw = é? J £2T 0 (iv)
- *

(v) What is the purpose of arithmetic operators? -é Uk 424§ J/"/l »@"5’ (v)

(vi) Convert into a logical expression : é J & u” /’r J{’ U .f S J‘ 3 s (Vi)
a=bc* +6b
8 3. Write short answers to any FOUR (4) questions : : ol AT 4 /"' L =y (4) /o = Jf -3
(i) Define conditional logic?

) | Ny f”u/ (i)
(i) What do you mean by associate code in if statement?

e . ‘.‘4‘2 / :f associate (&2 jf (ii)
H) Find errors in the following code : : & V-S4
percentage = 55 ; R~ (i)

. if (percentage > 75
(15 %

printf ( "Pass ')

| ?@g
<>@ (2)

3. (iv) Write output of the following cod

el o usTE W Sitn (v -3

intC=9,;
if (C <10) ;
printf ("10"),
else
rintf ( "9" ) ;
(v) Write syntax to declare an array. Ry _éffu&mKL/}{x.ﬁ (v)
(Vi) Write name of different loops used in C-language. -&Jr‘tcf_u” o tyd 6 -C (vi)
8 4. Write short answers to any FOUR (4) questions : : J_.w/’zuwrm),ucéf -4
(i) Identify errors in the following code : (5] 5 JkY U-'J‘u' ;:U' 30 (i)
X

. ) ) float marks [10] ;
(ii) Write the output of the following code :

A4 8 ()
for (intx=2, x<=20;x=Xx+2)
printf (" %d \ n", x); ;
(iii) Differentiate between function arguments and parameters. "c.. u/LJ/u" b l/-’.-»i./// f u’a (iii)
(iv) Define function. é 3 /" : (IV)
(v) Write the general structure of function signature. zt f .5 b} ¥ J."L“I_ILH u_,ﬁ
(vi) What do you know about the return keyword? S :..H/ ..«l % 4..11, 33 d/ Return (V|)

( PART-11 (9 )

Note : Attempt any TWO questions. - utiiﬁ..—ulf»:_cjf : uﬂ
8 5. Define variable. Write down its rules. _Z: /f Jrt £ Py rt = Vs _Z:( J/ J 2~ .5
8 6. Explain the logical operators with the help of truth table. -é oo los o J’ 5/ J J/"/‘ dy B
1,4 7. Write a program using FOR Loop to print -éﬂ///b’d../u/y(lMJZOtZGKLfJWlfu}’FOR -t

even number from 2 to 20.
217-024-l1-(Essay Type)-40000
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Lg‘i.c:/uc.ufuﬁbzé.:'d.lré:dlr/z{,ég@i. ..uféfé.)D 5 CB°A a@iﬁ;,@ﬂfﬁJ!r/z L
-fn/r‘ngiﬁuﬁuﬁajﬂji./z ALk L L)qu;fbugjc_up _’ci‘)/fc_df-'&ﬂb(o}bwf&flbf
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two_or more circles will result in zero mark in that question.

: %&))AU:L/C.--- ﬁf@fﬂld/cbﬁ_z 1-1

Readability help to ---- the code :
Al of these 14, (D) Debug i /L3 (C)  Modify L/J4 (B) Understand £ i
An if statement inside another if statement is c§ﬁéa ::'1 : ‘rw"{ g }’/; "';ﬂﬂ i ”"'@ﬂﬁﬁ ' .Q 2
structure . I.
Decomposed 5/”.”‘65 (D) Repeated ii, (C) Boxed 4} (B)  Nested 4% (A)
A set of multiple statements enclosed in braces is called a : 3 E@:’» b=yl e .,"fl,vufuﬁ/} 3
Job 7 (D) ook S (€), (0 Uste?(®)  Bx L )
5 O
gy LH)23
----- part of For Loop is executed first - @@/ Do b
el e LK YF
Bod & " a : e
| y @@@ U3t (B) Condition =i (A) 4-1
ner. ( 3 :
. ement / dec t d/ / 5L (D) Initialization ¢/*7 %1 (C)
Which of the following is not a type%f%)perator: e J () J LTS oS
y L o e CEUEC AL Rl
2 ’Zelfan?nal operator /:?l 4’"4‘/ (B) Arithmetic operator /:/T..@‘”’j’ (A) >
gical operator Sl !J’?U (D) Check operator . yramr (C)
------ means to transfer the control to another function : : c.t//'jlfd u“ﬁm.fu Y4
iresbistiecs % W N T iy
ncluding L/Jl/ (D)  Rewriting &1, (C) Defining .Jf»flégf (B) Calling s (A) °
A float uses -—--- bytes of memory : ' at'/’vb'"‘lu:"lt e
‘g - .+ Float
B 6 (D) 5 (C) 4 (B) 3 (A) d
The operator % is used to calculate ------ ; " Lt L G Lk 11
S ] . CE T T gy AR
__Square Cf/ (D)  Factorial J“'/r-ﬁ (C) Remainder (ﬂd;)/i’:‘/ (B) Percentage C‘% (/;‘\) 8
Using loop inside loop is called --— loop : JO - N :ULJ"!KJ ;’ 1Ly
- & ¢ ‘b.:a ~ VI L L
NFSTED (D) DO-WHILE (C) WHILE (B) FOR (Aj 0
------ are the values that do not ch i NEWAR : , j
oo e kL change during the whole - &nuﬁ(f” ydb»&_ééﬂﬁ{;z{&f d/_-“ 10
C L s Zs f
omments i3 (D) String £~ (C)  Constant ws¥ (B) Variable JF“(Szs (A)

16-023-1-(Objective Type)-12000  (7835)
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Maximum Marks : 40

(i) What is meant by IDE?
(iiiy What is meant by syntax?
(iv) Find errors in following code :

(v) Write the out put of the following code :

() Jher/ 023

( New Course / J% )

Sl
(Sl LHP~)23 GohastesD IT

2145 - =

24
v

40: A

( PART-1 J3l )

8 2. Write short answers to any FOUR (4) questions :
(i) What is difference between Char and Int?

e J/ U~ int sl Char (i)
‘e Ar Y < IDE (i)

e sl | e o (i)
2L G g S Jies (V)

inta

Scanf (" % d ", a);
2

inta=4,b;

floatc =2.3;

b=c¢c*a,

printf (" % d",Db);

(vi) What s the difference between = = operator and = operator? *‘c‘:.J/gu: /‘..47 = /:!/’1.47 == (vi)

8 3. Write short answers to any FOUR (4) questions :
(i) Write down the structure of "if else" statement.

(i) What are selection statements?
(iii) Define control statement.
(iv) identify errors in the following code :

(v) What is meant by array declaration?

(vi) How is an array element access

8 4. Write short answers to
(i) What is meant by loop s
(i) What is the out put of following code :

for (inti =

L

<?6 V2l 256 if else (i)
(O pitagiile (i)
o(&% Ay Y ()
S\ L2 S S5Es (V)

if\/(é\ié@©70);

@1 (" Senior Citizen " ) ; .
selpe e V)
te Fed Lol BSilL LT (V)

g e & fp e ()
e 22T W S5t (i)
1; i<=10;i ++)

printf (" %d \ n",i);
(iii) -Which approach divides a problem into smaller ‘-’uyfz:‘:‘:—d/ﬂ-’d JJ/VL)‘QQZ Jf JJ u[ (iii)

problems and why?
(iv) Indicate errors in following code :

/ {

L

}
(v) Definefunction.

(vi) Write name of types of functions.

( PART-II ()

Note : Attempt any TWO questions.

8 5. Why do we use comments in programming
and also define its types.
22,4 6. Whatis escape character?

-4 R J gt S 3 J_:i Lo (iv)

int max (inta;intb)’

if @>b);
return a ;
retumb ;

H 8 W
.2k 7 et LU J/C’ (vi)

-£ c:«&lz&:.alllr»c_éf t 2

o PUISUIE St L AU ot Sy
_éyu,jvédm,fu%?!u_ui,ndmg‘jﬁg St S L

escribe an escape sequence used for new line with example.

8 - ~7. Write a program using FOR loop that print
\ first five even numbers.

216-023-1-(Essay Type)-48000
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L.,«b’.:/»cdgﬂfbéér)&Lf[,g)lr/:_gélﬂ}’ﬁ -ujé‘fé.JD 5 C'BA :«@‘ﬁ,&ﬁ?&d’r’/g FOF
-(ﬂ/rﬁwyiﬁo/ﬁuf&/!‘d/i./(/: o'y L L///:;'/U)/”Juyc;ug _251‘)/?’4:—%&/;&}(0/’!)53"&1&/

Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Single line comments start with : : %Lnﬁ:}@dwﬁ” 1-1
*I1 (D) /Il (C) iH* (B) I (A)
Which of the following keyword used for store integer §.blg&;@b¢*’"’b3& Vufé.éi,/'j?fﬁ.;‘ PGS mtil] 5
data type: .
void (D) int (C) char (B) float (A)

. . g Dhic e GGy et
Which operator has highest precedence among the following : Vi wr GrOfaL IV & ) 3
Format specifier % C shows the data type : @O%&) : é.t‘lef;/() g// J k3 % C 7liyegsb 4

void (D) char float (B) int (A)
rAat N A@@ (2) 1 1&. £~ &=
> -
A set of multiple instructions enclosed in S is : ‘Lt‘M — q(.:,y/,ug;c,vgkuﬁuf 4 5.1
called a ----- : i
Job 2 (D) Box 'L (C) Block % (B) List & (A)
C-programming language also provide --—- gtndlf?’“ ’U/ ﬁ./ ¥ g QJ.LJV:"’J: /‘Zlf ¥ fy}@.@’/’j{-C
structure to _deal with conditions : 6
Switch case u’f/ % (D) Loop 7}’ (C) Functions ,56 (B) Tree 5/ (A)
Which one of the following is the size of int arr [5] : : lfﬂl[’/’ L-€int arr [5] 7
5 (D) 6 (C) 2 (B) 4 (A
An array is a ------ structure : : 9}./} B« T 8
Conditional JJ“;J/ (D) Loop h;)’ (C) Control JJ}"( (B) Data {5 (A)
------- means to transfer the control to another function : . /T'..Lf/ 1/~ uﬁﬁm.gb’;l/c. -1 9
Including £ (D) Rewriting _ﬁ/’/,dz (C)  Defining vé/lé{j (B) Calling ¥ (A)
How many values return by a function : : ‘LCC/( V] /"../uf‘jﬂ;g}c,u&)ui@ .,g 10
Three ¢& (D) Two » (C) One £/ (B) Zero ## (A)

217-023-1-(Objective Type)-10750  (7832)
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Maximum Marks : 40
( PART-1 U3 -»)

2 oyz 2L oy (4) g e df 2

8 2. Write short answers to any FOUR (4) questions :
(i) Define text editor. -.é'_‘/ - /‘U/ (i)
(i) What s the purpose of single line comments? ?§.W ARy u’UJﬁ’ (i)
(iii) What is variable declaration? Vc‘;.:’/l_{'/c;uy/K:J/;” (iii)
(iv) Define getch ( ) function. -i -2 /Jd/u’a getch ( ) (iv)
(V) Define arithmetic operators. -é - /"JJ// kst (v)
(vi) Trace the error of the following code : é J tﬁfuui PP = :}(J sk (i)
. printf ( I live in Lahore ) ;
8 3. Write'short answers to any FOUR (4) questions : : é O] 4 /‘"? L iy 4) /b < Jf -
(i) What is conditional logic? e/} &”'”L,/“‘ (i)
(ii) Draw flow chart for if-else statement. P 5 /la)’ Ko if-else (i)
(iii) Identify the error in the following code : \/X @@ < J W““ Lf:”U: 1O (iii)

if ( x >Q§
<
pr‘@% God");
(iv) Write output of the following code :
@ ntx=10;

@ inty=5;

Y (x<y)
printf ( " Correct " ) ;

printf (" Incorrect " ) ;

Vg)/b’/c.u),cﬁu:u( &zl (V)

(v) What is meant by array declaraton?
(vi) Declare an array of type float that can store 5 values. -é_/@l”fubﬁic{f@z_/kf J../Eb:u (vi)

: é...gmf’zumrm)/ge,éf -4

o sTE e (v)

8 4. Write short answers to any FOUR (4) questions :
(i) Describe the structure of for loop. 2l /./ s for (i)
(i) Define nested loop. -"é ...,gf/‘.; d/ ;.:.«:’ a5 (i)

(iii) Enlist the parts of function definition. -éftéuﬁéﬁdj;uﬂ:’ (iii)

(iv) Describe the advantages of using functions. ..’cf:’/ uy.z_./tié: JW&’: /36 (iv)

(v) What are built in functions? (¥ Z.n.l.;( /56u ek (v)

e 0 3G (v

(vi) How many values can a function return?

( PART -1I (9 )
_éaylzé:am)’»c.éf oty

Note : Attempt any TWO questions.
oottt e 5

8 5. Explain the data type in C-language.
Define operator. Explain different types of logical -é .wl.b;g()/‘..{ Tdb} L(Ll"f...&f? -é - /’Jj’:{i’ -6

operators.
4.4 7. Write a program in -;Ig//u?fwvﬁ 00 1 ?L.L«('/’,/.fu“f/}a_Cc.fé../UWf/_«:’FOR g
C-language to print 1 to 100 numbers on screen using FOR loop.
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Q. Paper : I (Objective Type) PAPER CODE = 7837 GAS» ) 11y
Time Allowed : 15 Minutes (s Jkr) e 15 =y

Maximum Marks : 10 %&-&\\P\ 10 \\Q\

P \.vr\\tﬁ!r\Cu\\rmmm.LNw L_\\\.\Qﬁmcv QnmnluD » C B >r\:sv\m\¢h%\\. Y
4@\\ukgrr(_\vo\bq(\\cr\\‘ ,’e m\\ﬂl\Cb\c%fﬂ\(ﬁ \Nuu\\h\l%e\{\\cwpr\r\ﬂv\

Note : Four possible answers A, B, C and each question are given. The choice which you
think is correct, fill that circle in front of uestion with Marker or Pen ink in the answer-book.
Cutting or :_:_,_m two or more circles will-rgsult in zero mark in that question.
There are ----- types o.ﬁ control structures in BASIC : emlc. uL. \\\ Qu\:\ Z ﬂ\ ——— rﬁ( 1.1
Five mm\.e. (D) Four sk (C) 43@4\ (B) Two 9 (A)
A user can define the function with ------ statement : % S Q.\\ s CBD . S A .,..,,:I,. 29
DEF FNS (D) DEF FUNCTION (C) EF FN (B) Define Fn (A)
The output of function INT (-5.7) is : L Lol s T c\ INT (-5.7) CVQ 3
5 (D) -6 (C) -4 (B) -5 (A)
A - is a sequence of characters enclosed in a double quotations : nh.lr.va..\uQ\\\w..ﬂ\\?Cw Q..&Qﬁ,.t!.c (.Q 4
Statement r\m«c (D) String (Q\ (C) Constant number \\r»\fﬁ (B) Variable AQ\;Q..\\.V\WV (A)

Am‘_@hv



(2) LHR- GI-2)

...... is a pictorial representation of an algorithm : - AP Q..\\u K ﬂwwa S—
~low chart r&\m;m (D) Coding £ (C) Desk checking rhm.v.(ﬁmw (B) Documentation ., w..\a (A)

5-1

his command is used to modify a program line : mV@&L?Vle\P\x&h.\Q&E\WC\M&
REM (D) RENUM Am@ -« EDIT (B) AUTO (A)

.

Nhich function changes the way of displaying @@o“ n,.lgLT.?_mwhO..!\&%\mMXh&wn\m ﬂr\nmf\r\....(ﬁ%
output in BASIC : %

ABS (D) LEFT $ AQMWW@\, PRINT (B)  SCREEN (A)

E—

rray can be divided into ------ major categories : @@ Qn b ..v\ ?& e g X W: e i i}
. O s
Five & (D) Four sk (C) <2, Three & (B) Two 5 (A)

..... is called a subscripted variable } Ll n.w!\ ) S G Bysec o AN

&l

Array « 4 (D) Module J#3l (C) Function ¢ (B) Subroutine s (A)

..... loop is preferred when number of iterations are ! m'%w%n.\mm\{a — \Xnnh.\m,m:\i \_\ﬁ\v.
nown in advance

IF - ELSE (D) NESTED (C) WHILE - WEND (B) FOR - NEXT (A)

v

10
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{ PART -1 Jit )
8 2. Write short answers to any FOUR M%@@cmmmo:m : : &\ WY 4 \._v. L = Uly (4) /o = u\ -2
(i) When does a syntax error occur? @ ‘e b vy (_\ e (1)
(i) What is meant by desk checking? o@% e sy YV < (mm.v. 23 (i)
(iii) Why is loop control structure used in BASIC? @ﬂ%% ey Jo 1 Ul \..\\w\ Js ! S L (i)
(iv) Write the purpose of FOR - NEXT loop. = LB Yy ¥ FOR - NEXT  (iv)
(v) How does IF ---- THEN statement work in BASIC? m\‘\\ﬁu..\ =4 |F - THEN Sl (V)
| (vi) Define nested loop. ,.NM\ r‘m\u. Cﬁ J..\a X (Vi)
8 3. Write short answers to any FOUR (4) questions : . o =i \mw Z =iy (4) e = %\ s
(i) How does direct mode work in BASIC? Y. e/ 11 h.mw S s U (i)
(i) Define numeric variable. 4% ..\m\. Cm 2 (\\u (i)
(iii) What is the use of assignment operator? fe. JU5! VK T L (i)

AN.Q\D



(2) LHR-§1-2]
L S SEL S e (v -3

3. (iv) How we can fill an array?

(v) Write the use of subscript variable in array. iwq QT.I K Q.\.._Q.ﬁ rx\vf\ e el (V)
(vi) What is meant by one dimensional array? e iy wx e 5 (..ﬂ (vi)
8 4. Write short answers to any FOUR (4) questions : - m.\lq r.vcw\.wh....\:_\irwn!@.\ -4

(i) Write the purpose and syntax of r@ function. ak.nW..\ O)% ey gal K ,\vﬁ "LOG" (i)
; @@ s(ea b

(i) What is meant by user-defined E:Q.%&% ‘e sy Ww P \bﬂ. s sy (i)

(iii) Write the syntax and purpose of "ABS" a&u:. ..NM O% T IV 1 CVD "ABS"  (iii)

(iv) Define "sub-program". %@ e sl W_\_ & ﬂ(wm s (IV)

(v) Write the use of medium resoiution graphic Bo.mxw Wk QT.,.\. K 5 1) Q.w_u.m\ ﬂn\.r..\ (V)

(vi) Write the syntax of PSET. -2 Gk oKk € PSET (Vi)
( PART-1I 2 ) ‘

Note : Attempt any TWO questions. ..N@‘ﬁ\t&hrv:_\:h\a\ FON

8 5. What is meant by flow chart? Write the advantages and L&y \wattf\_vhrv\.@»m 4hﬁL_\an.l u\\.@»m ~9

s o/

limitations of flow chart.

8 6. Briefly describe the structure of a BASIC program. ‘\.n.au\ Uk 4 ¥ \..\..\ £ 1 rﬂ ﬂ_\m\..” L\% -6
8 7. Whatis Line Statement? Explain it with example. 4% eols o JO rﬁ V! e m\ 24 Line -7
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